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4 If aparabokdis given init's standard form: y = @ (x - pY» itis f
‘ we did in the previous lesson, : *___h__'P)j_q_ airly QOSY ‘l'o sketch as
Sometimes, though, the parabola will be given in general form: y = axc+ b ,
we'll need to change it into it's standard form by completing A r_,;w' c.ond then

Prerequisite skills: : : 2 , ) '
Expand these binomial squares: (x+1) +:> X ”’/k*f)@“/ix 2 |
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Fillin the blanks: = 2. L 49 s -7y
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| x2+7x+/225-'(x,25z

Write each equation in ﬂ\e fogm fO)=a(x- p)2+ q. and determine the vertex:
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1 y= éz 4x o 11 Xz,mx>3
G e VTS

”“f‘ *) 2yt )*// | )\3-{2;”
y= (7 Y= PO 25) 3=
Y’(/Y’2> 7 ‘ﬂmxpomf? "‘“‘)’*é‘f‘f)L 28 ggiﬁ?

, (} 3.y +14x /} Y{Q(Z-BX+1

T y-(x LD&LHJ/?)_ V=24 ) +
>/’——/)< ’/L{)(’('L{?> é L/?{) y ﬂ?(XR L{X_(.(_O_,_ q/a’))

y==(-1)443" (LB alea) “TdT

B~
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Complefe fhc squares and then sszch fhese porobolos Iobelmg fhe vertex, the axis of w}"“
.‘ symmetry, ondonyfwoofhu-pomtsonfhemh ' .
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Write an equation of a quodrahc function that satisfies each of these condmons‘

1. The function has a minimum value 6f 8)0@ /= ()( ’5" +X
7

2. Thefumﬂonhosomcétzmmvalueof -3 at x =)~< y: -é(+ > 3

3. The parabola is congruent to y @/N3 (X -6 )Z- L_/

and has minimum wlue of -4: >/~ /4

4. The function has axis of -8, .
vea vz (xt8)+

and i’s range |$y@4 L{%
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5. The parabola has vertex (3. -5)and pomt(l 1; yqzé( _3>Z -5
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